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PV =’ PV*  z (1 t i)+
Cl

t=o
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i Cl+i)"
R x P I - - - - -

(ltijn  - 1
1
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1.1 41 (worth) %AmAlRmaEIJL~u

-aa  t&ii1 t&-s~tiYGi~~  1  =  tJ’uti~  +  mnah

= loot  (1OOx~)

100

= lOO(l+i)

= ClOO(l+i)  t IlOO(l+i)  x il

= lOO(1  t i) Cl+  i)

.lOO(l t iI

lOO(1  t ij3

lOO(1  + i.)*

1 t i)*

t
t i)
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1.2 ;-I  (worth) aa~~~u'luSii&u9

PV =b PVO(l t iIh

PV =0 PV%/(l t i)*

aia PV =0 PV*(l t if-* hula4

mnlm PV = PV (1 t i)-*Y 0 c
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GGilMafdl  (1 + i)*PI &Vll~lJZ$Wh5a2.J  (compound sum factor)

LtT3~61  (1  + i)-*, Gil  (present value factor) UOY~l(~de(157JsQ7L~SL$n

~aiudaman~un&iuxu (~hfmwuan  5rmGi 1 u.53~ 2 ~II~~IG~IJ~  ~&a&4

n04 141 ti& i=lo% t := 2 illnm7& 2 1'511&1  (1  t i)+ LTil?iU

0.826 t%¶tMadl  PV = 5 x 0.826 = 4.13 hAlllTl

n7c PVt (1 t i)-*

t=o
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~lii~~iiu  = (2  x 1) t (2  x 0.909) t 3 x (0.826) + 3 x (0.751)

= 2 t 1.818 t 2.478 t 2.253

= 8.549 ihmn

F;I&I&  = 2 x (0.909 t 0.826 t 0.751)9

=  2x2.486
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noJt&J~m (present value of an annuity of

aa~tTh+ltitth~~a~ 7 wth iiu (61151~i  3 hfmwuan~7 ma.G3DGhJiiu

naJt11  tin  n = 3 i = 10% dli)ln(nl~lJ  3 LTiliiu  2.466 ~Jhilils~iiU

aoJweIisa%Itirf~n~ = 2 x 2.486 = 4.972 hIlWl

lunsGi  PV
t

thi5uyd~JttQi&  1 5JiG

dlaaJ  PV0 7 5lntp3aAoiuxu%vh

PV = PVElCl 0
1

twmm&  th’5a$JyIaJm  (S) = R ~(l+i)"-1t(lti)n-et....t13....(1)

La1  Clti) p?lJ  2 a”15

Clti)S  = R I(lti)"  t (lti)"-l  t . . . . t (lti)X . ...(2)

(2) - (1) iS = R Ic'lti)"  - 11
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Cl+i)"  - 1S=Ri----- 1
i

I&SW&4 x R{
(l+i)"  - 1

1 uin
i

LSl'Ja%h  P(lti)"  = R I- (l+i)*  - 1)

i
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+a

i

R =p I i (l+ijnI

(l+iIn  - 1

&I hW&&u  (Capital Recovery Factor)
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&mu9

chum)

(1)

15

10

10

10

10

10

10

10

10

wds-Twd

(hnnn)

(2)

14

14

14

14

14

14

14

14

wdi=hi&in~9
cwadaabd~  - 6iunnu)9

(3) = (2) - (1)

-15

4

4

4

4

4

4

4

4

PV, = PV c Clti)-" Gat9mm7575  3 L&I  n = 8,n
n=l

i = 12 il-c!lnwl4l5  = 4.368 &¶k!J  PV, = 4 x 4.368

= 19.872 hALIln  rilij~~ij~p~~w~li~aqus(;lu~  1 - 8

=
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W5i161~11514  5 rklM+l  i (ltiIn ilr~&~h  L&I n = 8,Y -
(l+ijn  - 1

i = 12%

d7hl1'515  5 HiDdl CRF = 0.201
,b
61JUU R = 4.872 x 0.201

= 0.979272 i1Ulr-m

h& 4iR1Jn15~~W531)~afi~~~~a~~~liiu~1t:  979,272 Uln

&L-d537  8 1
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n.

91.
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2.2

2.3

EC367 197



\
\ ' time preference consumption curve
\
\
\
\

c1
--- --_

y1
_----.-

social indifference curve

0

co  y.
ni&Tn~hil~$u  ($3

iijlunlJll~~r~~~~~~~~~~~~~~  Gi&&~iuria~aa.wi-&~

daIl~+Wk9 (value judgement)  tW5lt:t5ik.itiiw17n~p17Lh1  social indifference

curve 16
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PV 0 = PV*(l  + i)-'

n
PV = 10 PV, (1 t i)-*

t=o

n
--tPV = PV* c (1 t i)0

t=o
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R=P  -

[

i Cltijn--~-
(ltif" - 1 1

1

f&i'mab%n'h  Capital Recovery Factor :CRF-
1
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si 0 1 2 3

Tmmi4

A -1,000 t500 t500 t500

B -2,400 +1,000 t1,ooo t1,ooo
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@Il&JL&J77n  Mark S. Thompson, op. cit. pp. 158 - 159.Y

B' h&G  wG%i, op. cit. p. 59.
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